
xsbfaL ;DjGwL #% lbg] cToGt h?/L ;'rgf 

tklzndf pNn]v ePsf JolQmsf] d[To' ePsf]n] tklzndf pNn]lvt sDkgLsf z]o/x? d]/f] gfddf gfd;f/L 

bf=vf=-bflvnf vf/]h_ btf{ u/L kfpF egL lgh d[tssf] >LdtL kg]{ tklzndf pNn]v eP adf]lhdsf] ljj/0f 

ePsf JolQmn] o; sDkgLdf lgj]bg lbg' ePsf] x'gfn] lgh d[tssf] gfdsf] tklzn adf]lhdsf z]o/x?df 

s;}sf] xsbfjL nfUg] eP of] ;'rgf k|sflzt ePsf] ldltn] #% lbg leq cfkm\gf] k|df0f ;lxt o; sDkgLdf 

xsbfaL ug{ cfpg' xf]nf . pNn]lvt Dofb leq kg{ gcfPsf] xsbfjL pk/ s'g} sf/jfxL gx'g] / lgj]bssf] dfu 

adf]lhd eO{ hfg] Joxf]/f ;DalGwt ;a}sf] hfgsf/Lsf] nflu of] ;"rgf k|sflzt ul/Psf] 5 .  
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GffdM e/t /fh kflnv] 

 

afa'sf] gfdM lx/Go /fh 

kflnv] 

 

afh]sf] gfdM s[i0f b]j 

kflnv] 

 

:yfoL 7]ufgfM sf:sL 

 

lxtu|fxL vftf g+—   
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GffdM ljGb|f nIdL kflnv]  

 

afa'sf] gfdM lzj r/0f 

d'gsdL{   

 

afh]sf] gfdM ljWof jzf 

d'gsdL{  

 

kltsf] gfdM e/t /fh 

kflnv] 

 

:yfoL 7]ufgfM sf:sL{  

 

d[ts;Fusf] gftfM >LdtL 

 

lxtu|fxL vftf g+–  
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s[lif ljsf; a}+s ln= 

ckL kfj/ sDkgL ln=  

l;jfO{;L g]kfn n3'ljQ ljQLo 

;+:yf ln= 

u|fdL0f ljsf; n3'ljQ ljlQo 

;+:yf ln= 

xfO{8«f] O{n]S6«L;L6L O{Ge]i6d]G6 

P08 8]enkd]G6 sDkgL ln=   

sfdgf ;]jf ljsf; a}+s ln= 

g]kfn O{Gkm|f:6«sr/ a+}s ln= 

g]kfn OGe]i6d]G6 d]3f a}+s ln= 

;fx; phf{ ln= 

;"o{Hof]lt nfOkm OG:of]/]G; 

sDkgL ln= 

;Dkbf n3'ljQ ljlQo ;+:yf 

ln= 

l;ghL{ kfj/ 8]enkd]G6 ln= 

;flgdf l/nfoG; nfOkm 

OG:of]/]G;  ln=      

t]x|y'd kfj/ sDkgL ln= 

o'gfO{6]8 df]bL xfO8«f]kfj/ ln= 
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